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2.

3.

4.

5.

Exercise

10. Which of the following statements ah°utt

Frequency polygon can be drawn after drawihg
(a) ogive (b) bar chart

{c) histogram (d) None of these
An ogive i& used to determine

(b) median

{a) mean
(d) HM

{c) GM
The mid-value of a class interval is 42, If the class
gize is 10, then the upper and lower limits of the
class are

(a) 37.5 and 47.5
{c) 37 and 47
The actual lower class limits of the following
classes 10-19, 20-29, 30-39 and 40-49 are

(@) 9.5, 19, 29 and 39.5

(b) 10, 20, 30 and 40

{c) 9.5, 195 29.5 and 39.5

(d) 18.5, 285, 385 and 48.5

State which of the following variable are discrete?
I. Number of children in a family.

II. Wages of workers.
ITII. The ages of students.
IV. Weights of a set of a students.

Select the correct answer using the codes given

(b) 47 and 37
(d) 47.5 and 37.5

below

(2) I and Il
(c) All of these

(b) I, Il 'and NI ¥
(d) None of these

6. If the mean of five observations x,x+ 2,x+ 4,x + 6

and x+ 8 is 11, then the mean .of: first three

observations is

(a) 9
(c) 13

(b) 11
(d) None of these

7. The combined mean of three groups is 12 and the

‘9,

combined mean of first two groups is 3. If the

first, second and third groups have 2, 3 and
5 items respectively, then mean of third group is

(a 10 " (b) 21
{0 12 (d) 18

8. 10 is the mean of a set of 7 obeervatlons and 5 is

“the mean of a get of 3 observations. ‘The mean of

~ the combined set is given by
{a) 15 (b) 10
(o) 85 @ 75

11.

median is true? '
(a) It is not affected by extrerne values "
found even, if some-items are not |, -

It can be

(?:; It is useful when the data cannot be mea%
guantitatively - _

(d) All of the above _

The middle  item of the series a”aﬂged

ascending or descending order is called

(a) mean
(b) median
(c) mode
(d) standard deviation

Directions (Q. Nos. 12- 13) The itemwise expendm2
of a Non-government Orgamsatlon for - the

2008-2009 is given below :

. Item Expenditi.lre
(in T lakh)
By Salary of employees :2}:* = i 6
. Social welfare acnvmes SRR AET
Office conhngency i Sl
- Vehicle mamtenance i )y
Rent and hire charges o R =2~ e
S F

Miscellaneous expenses |,

The abdvé data ére represented by a pie djagrém ;

12. The following pie chart shows the marks obtame(

by a student in an examination whose scored 54
marks 'in" all. The subject in whlch the studen

; 'scored 108 marks is-

-/ Mathematics
- 90°

-Science
- 750

(@) Sclence

(b) Hindi

(c) English 7
(d) Social Science

S i A dlstrxbutlon consists. of three components Wlt;:

In a class of 50 studenta, 10 have failed and thexr- &

average marks are 28. The total marks obtained
by the entire class are 2800. The average - marks

of those who have passed are .
@43 ()83 ()63

ST

frequencies 45, 40 and 15 having their means
:5 and 2 respectively. The mean. of the combm'd-.

 distribution i e

fa) 2. : i

(b) 22
(d) 24

I o el
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TR Statistics

onS (Q. Nos. 14-16) Study the

following pie
and answer the questions. 4.bie

Sugar

The percentage of wheat production is

(a) 35% (b) 70%
©) 19.44% (d) 20%

If the sugar production is 9000 kg, then the wheat
production 1s
() 20000 kg
(©) 15750 kg

(b) 24000 kg
(d) None of these

_ If the total production is 180000 kg, the difference
in sugar and wheat production is

(a) 10000 (b) 15000

(c) 20000 (d) None of these

1111 1
e values 1,—,—,—,—,...,— occur at
I o 23’1’5 n %
frequencies 1, 2, 3, 4, 5, 6,..., n respectively, in a
frequency distribution, then the mean is -

(a) 1 (b) n2
@5 Ry

. If the geometric mean of three observations 40, 50
and x is 10, then the value of x is.

(@ (b) 4

1
2
© 6 (d 2
po Let x,x,,..
with the respectlve frequencies f, fz,
is the value of the sum xf + X3fo +

(8) 0. stz (D) 1

) | d) p+1

+xf,,

correct with reference to a hlstogram"

of the top of the. adjacent rectangles: W'th smooth
Curves w

() Histogram is drawn for continuous data

of that class

() Mode of the dlstrlbutlon
histogram ..

22,

. Suppose, X is some statistical variable with mean .~
,x, be its deviations from mean .

v What'

- Which one of the following statements’ is not" '

(a) Frequency curve is obtained by joining the mid- pomts :

bex' btained from the

. e s e -

P+ E T O e g v o i
j T
| [0

Froquency

The table above gives ‘the frequency dxstnbutlon
of n discrete variahle X with two missing
frequencies, If the total frequency is 25 and the
arithmetic mean of X is 2, then what m the value
of the misging frchency f?

(a) 4 b

(¢) 6 ﬁa{ 7

The yield of paddy per plot of one acre were
obtained from a number of plots- from- two -

different districts in a State and are summanzed
in the following table.

Yield of paddy per| District A number Dlstrlct B number
plot In quintals of plots of plots
38.0-41.0 26,6 S L 1
41.0-44.0 86 o[ 29
44.0-47.0 L T8 35
47.0-50.0 Sk SNV 8
sQONgQ) | it T gy

“Which one of the following statements is correct?
(a) The mode for dlstnct A |s hlgher than the mode for
- district B .

(b) The mode for dlstnct B is hlgher than the mode for
district A« :

(c) Both the dlstnbutlons are symmetric
(d) Both the dlstnbutlons have the same mean

23 Average score of 50 students in a class is 44 -

 Later on it was, found that the score 23 was
] mcorrectly recorded as 73. The correct average
. 'score is SR
,(a) 42 '(b) 43 (c) 45 (d) 45

. 24.  Mode ‘is apprommately glven by

(@) 2 median - 3 mean |
(b) 3 median -2 mean
() 2 median + 3 mean
(d) 3 median + 2 mean

25. In the “lesa than” type of oglve the cumulatwe'
- frequency is plotted against - - e
(a) - the lower limit of the concerned class mterval
(b ) the upper limit of the concerned class’ mterval BN
)

s (c the mid value of the concerned class mterval B2
(d) any value of the concerned class mterval R

© .26, A, B. and C are three sets of values of %
() The height of the bar is propomonal to the frequency Sk A, L st

‘A 2371323 .
"B 759125,38
0-::4,,4, 11 7234

Scanned by -CafnScan“ne:r



T R S5 e e
X

A

392

y the
Select the correct statement from AMmong
following.

(a) Mean of A is equ
(b) Mean of C is equal to medi
(c) Median of B is equal to mode of A

(d) Median, mean and mode of A are same

27. A and 856% marks in
three subjects. If the marks of any other subject
are added, then their average cannot be less than
(a) 60% (b) 65% (©) 70% (d) 80%

If the mean and median of a set of numhera are
8.9 and 9 respectively, then the mode will be

(a) 7.2 (b) 82 (c) 9 (d) 10.2
s increased by any

If every number of a finite set i
number %, then the measure of central tendency
should also increase by k& Which one of the

following measures of central tendency does not

have this property?
(a) Arthmetic mean
(b) Median

(c) Mid-range i.e. the arit
the smallest numbers

{d) Geometric mean
If the median of the distribution (arranged in
ascending order) 1, 3, 5, 7, 9, x, 15, 17 is 8, what
is the value of x?

(a 11

(c) 9<x<15
If the width of each of the ten classes in a
frequency distribution is 2.5 and the lower class
‘boundary of the lowest class is 5.1, then the upper
class boundary of the highest class 1s

(a) 30.1 (b) 30 (c) 31.1. (d) 27 56

al to mode of C
an ol B

\ student obtains 756%, 80%

28.

29.

hmetic mean of the largest and

30.

(b) 13
(d 9<x<15

31

32. If the sizes m a frequency dxstnbutlon are glven‘
‘in an ascendmg order - of magmtude, then the.

median M is given by.

NE) M=/+M
o) Ml NR2-Oxi
_(c),f./f:/-.("’iﬂ"—’

N2+ C)xi,
(d)M /~ b .

33. The average value of the medlan of 2, 8, 3,17, 4, 6,
7 and themodeofz 9, 3, 4,9, 6,9 is
@ (b) 8 ©f.7.57 g €

. When 10 is subtracted from each of ‘the given
observations, the mean is reduced to 60%: If 5 is

added to all the gwen observatlons, the mean will

be
 (8) 25 (b) 30
(d) 65

()60

35, A dat:
36. If mean of y and 1is M, then what is the m

37. For the following frequency dlStl‘lbutmn ’ S
|

38.

CDS Pathy.

. has highest value 120 ‘anq the -
value 71. A frequency distribution ip desc, I"‘S
order with seven classes is to be congty, tedl'

The limits of the gecond class mter\(al

Shall b‘

(a) 77 and 78
(b) 78 and 85
(c) 85 and 113
(d) 113 and 120

y? and —5—.
y : _
@ M(M;-S) (b) M : 7
(@) Mam? '3)' :

() M*-

C_'?fs"“f“?"’a' 0-5 | 5-10 |10-15 [15-20 3.;25 tﬁ
Frequency 10 | 15 30 80 0

|
If m is the value of mode, then w}uch one OftM]
following is correct" TR

(@) 5<m<10
() 15<m<20:

(b) 10<m<15 {'
(d) 20<m<25 i
l

" The cumulatlve frequency curve of a fl'eque
‘ dlstrlbutlon with 6 classes and total frequency

is straight line. . Consider ' the followm,

statements
I. The first and the last classes have a frequencyd

10 each.
II. Both the middle classes have a total frequencyu“

-30.
III. The- frequency distribution does not: have :,

~mode. ...,

5 Whu:h of the statements gwen aboue are, correct2

(@ 1and il
ce e (€) ) -and. Ill
‘39,
- following data \

-V.V(C) 1.cm:

40,

~(b) 1 and I
wo(dys 1 and m:

A

Square dlagrams are d.rawn to represent the

..China

Country | Pakistan | tndia Myanmar | - Chid _
Labour I T 81 o5 . - 100
3 Productlon ) . - IEIEOCTRgN e

Usmg the scale 1 cm ..—? 25 what is: the lengﬂ‘d

“‘the representatwe square- for . Ind1a'7

(b) 12 cm
(d) 2 cm

(a) 180m 4

Assertlon (A) The mean of ﬁrst seven P“’“’

. numbers is greater than their medmu

' Reason - (R) Mean is always greater tw
3 medlan o Lo s ‘
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W Statistics

) A and R are correct and R is correct o
a

. *Xplanation of
) A and R are correct, but R is not Correct explonmionAof

:is true, but R i§ false
S)A is false, but R is true

(
- sctions Q. Nos. 41-45) Considey the following
ency d’lsmbl_l,”_?_]i'_.-w._“_~
frdt ~ Class | Freque‘r;c%y*“
00 | g
N R S
- 2080 |
340 | g
S
T e
6070 | 4 T
—

31, What is the mean of the distribution?
' (b) 38.1

(a) 37:2 (c) 392 (d) 401
12. What is the median class?

(a) 2030 () 30-40  (c) 4050 (d) 50:60
$3. What is the median of the distribution?

@ 37 (b) 38 (c) 39 (d) 40
44, What is the mode of the distribution?

(a) 3833 (b) 40.66  (c) 4266  (d) 43.33

5. There are five parties A, B, C, D and E in an
election. Out of total 100000 votes cast, 36000
were cast to party A, 24000 to party'B, 18000 to
party C, 7000 to party D and rest to party E.
What angle will be allocated for party E in the pie
chart?

(@) 15° ® 54 ()60° (472

revious Years' Questions

. Ten observations 6, 14, 15, 17, x+1, 2x-13, 30,

32, 34 and 43 are written in ascending order. The
median of the data is 24. What is the value of x?

(a) 15 (b) 18 (c)-20‘ 2o (d) 2‘4- ;.; ’

i,

known ag : '

(2) median class

(b):mean class -~
() modal class

(d) None of these .
18

cmulative frequency polygon. -of <a: frequency
Tom the lower end of the range. - :
L The_ cumulative frequency: - ‘polyg
€quivalent - representation: .-
dlstributior’r-tabl& P il

“of - frequency .

- 201411

The class which has " maximum - frgqu‘en_éy',‘-:ig‘
' 201411

Consider the following statements  related to -

Istribution, - the frequencies. being ’?-jcum,ulate_d'

49,

" 50.

~ graph so obtained is called

51,

frequencies and % is the mean,
oo 2y ~X) equal to?
S @o

52,

393

1L l‘hle CUmulative froquoncy polygon is a closed
po yggp with one horizontal -and one . yertieal
side, The other sides have non-negative slope,

Which of the ﬂ'afwﬁt’n!(s) Hiven above ig/are

correct? 201411
(a) Only |

o (b) Only -
(¢) Both I and I (d) Neithar 1 nor 1
Consider the following data:

L Number of complaintg lodg'éd‘ due to road

accidents in n gtate within- a. year for 5
consecutive years, - ' g

IL. Budgetary allocati

on of the total available fundy
to the various jte

ma of expenditure,
Which of the above d
representation of a pie
(a) Only |

(c) Both | and ||

ata is/are suitable for

diagram? 201411
~(b) Only f1

. (d) Neither I nor il

When we take class intervals on the X-axis and
corresponding frequencies on the Y-axis and draw
rectangles with the areas proportional to the
frequencies of the respective ‘class intervals, the

(@) bar diagram

(b) frequency curve

(c) ogive ‘

{d) None qf the above

If x;’s are-tly‘lg;mid-points of the class intervals of

grouped .data, f’s are the _corresponding
' then what is

(b) -1 @2

(©1 |
Consider the following statements in respect of a

(discrete set of numbers.

£ L The arithmetic mean uses all the data is always
~ ‘uniquely defined. : :

1L The median uses only one or two numbers from

the data and may not be unique.

" 'Which of the statement(s) given above 'is/are

@) Oty

53.

the geometric mean of (¥, ¥y, ¥3,.-., %) is 3.~

Cgives an

correct? ?014 II

: (G Only .~
(c) Both | and Il (d) Neither | nor Il

The geometric ‘mean of (%, %5, %0, X)) B8 % and

Which of the foilowing statement is/are cqi'rect? :

' 1. The geometric mean of

(WY1, XY X3 Yoy o0y Xy ¥p) I8 XY, -

: : oo elmom o ox ). X

' eanof | =, =, =%, A lig =,
1. vThe;gngan“‘I} SR R L SR, Y e

‘Select the C.éﬁt.c[.'dﬁitl}ér"Miﬂg~fb'e todg; given below
~(a) Only. I : »
: 'Ec),aot_h land Mo .o

et (D).Only e 220141
(d) Neither I norll "

S’canne‘d"by CamScanner
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following table gives  "less  than' type
frequency distribution of income per day.

_ Income (in T) less than - Number of persons

Ya00 { 100
1280 [
1000 1 70
750 . 55
500 TR
w0 i T I

What is the modal class?
(a) 250-500
€} 750-1000

2014 11
(b) 500-750
(d) None of these

55. Which of the following items of information is a
good example of statistical data? 201411

(a) A table of logarithms of numbers
{b) A list of names of 120 students of a class
() A hist of annual incomes of the members of a club

(d) Holiday list of the offices of Government of India in
the year 2013

56. Consider the following in respect of variate
which takes values 2, 2, 2, 2, 7, 7, T and 7.

1. The median is equal to mean.
II. The mode is both 2 and 7.

Which of the statement(s) given above is/are
correct? 2014 11
(2) Oniy 1

(b) Only il
(c) Both l and 1I

(d) Neither I nor Il

57. Consider the following statements pertaining to a
frequency polygon of a frequency
distribution of a continuous variable having seven
class intervals of equal width.

I. The original frequency distribution can be
reconstructed from the frequency polygon.

II. The frequency polygon touches the X-axis in its
extreme right and extreme left.

Which of the statement(s) given above is/are
correct?
(a) Only 1

(b) Only 1l
(c) Both 1 and Il

(d) Neither | nor Il

- 58. The mean of the.following'distribution is 18.

__ Class Interval
‘ 11-33. o aliaSa
o e ABB T L .

_| Frequency

DS Patngy

59, The average of u, U, w, x, yand 24 1 :
the average of u+10, v+ 20, w4 30, X'Bljévhﬂt
and z + 607 T S ,y*g:]
(a) 30 (b) 35 © 40

_  A
60. If m is the meanof p, @, r, s, ¢, u ang o ,
is (p—m)+(q—m)+(r-m)4.(,_5._,")”!_.henw}ult
+(u=m) +(U=-m) equal P ?2. o

(a) 0 s Ay,

(c) (IHZ- v) (d) None of tHeSe

Directions (Q. Nos. 61-62) Read the folloy,, =
information carefully and answer thg questiong .

8 Ligy

below. | - “en .
The median of the following distribution ig 144 5‘

total frequency is 20. i O (]

Class interval| 06 | 6-12 | 12-18 | 1804 2#30‘
Frequency 4 x 5 y 1

61. What is x equal to? sy |

(a) 4 (b) & ©6 . (d)7

62. What is the relation betweéﬁ"x_'éxid:_y'j‘, <
@ 203y (0) B2y o(0) #oyin masy o

63. There are 45 male and 15 female empl‘d}éeg”iﬁ an“
office. If the mean salary of the 60. employees i
4800 and the mean salary of the male employee
is ¥ 5000, then the mean salary of the femy,
employees is ’

: Lo 2013]
(a) T 4200 (b) T 4500 - (c) T 5600 -(d) 2 6000

64. ]

The mean of 7 observations is .7.. If each
observation is increased by 2, then the new mean
is

(@) 12 () 10

Directions (Q. Nos. 65-67) Read the following

information carefully to answer the questions that. .
follow. : Bl i

In a frequency distribution having class intervals ‘0-10!,
10-20, 20-30 and 30-40 the respective frequencies arek,

x+8,x-2 and x-4 and the arithmetic mean of the.
distribution is 17.8. Sy
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Statistics 395;

~he following statémenta ; , i ?’) 0 pie dinarame sl the et are corvistted inle g
ider ) A bar ) " are Sl
1onél ,quom\ diatvibution condepse W the du(n nnd )lrmm m';,!:;z” b dpis m ol
# ,\f e important features; (B '
voals 1 d) Bar disgrams mr- ont rlim U.un;(;h !u'.q( i nwf er ith

Lequency distribution s i “quivalont 76

A eontation of original data, (nnnhl«-r the following atate Higiii -
pepr Z
of the statement(s) given above ia/are - The datn collected by thee invostigatar te be aged
,;,,ch ( I;v himsolf are cnlled primmey data,
i ped i (b) Only 11 I The data obtained from government aye HH' 4 “f"
\U: o (d) Neither | nor | called socondary data.
poth 1 ¢

Which of the statement(n) mm'u ul)oue tﬂ/“""

Jich one of the following statements iy correet? correct? 20[/‘

0. 20131 :
& (0) Only | (H) only i -
. requency polygon is obtained by connecting th o) B ‘ ' i
| 5 “ n{;rqgt;,mb of the rectangles in a histogram s (0} Boti |, and I (€) Neliher rqr i
.;mq\mncy polygon ‘o‘}‘bm'”t‘d by connecting the 77+ Let the obgervations at- hand be Arr.m;;td in
Y dpoints of the tops of the rectangles in g inerensing  order. 'Which “onie of the following
pskoafﬂm measures will not be affected when the amallest
- ency polygon is obtained by connectin the ) \ y
@ ;n,f,r,f?upom)ts of the classeintervalody o hlslogra?n ¢ ;11)1(1Mt1u largest ulmcrvntu;:u—; are r(mnwd’ 20121
f the above . ean . . ) Median
4 None 0 SNl (c) Mode PR (d) < tandard devut.mn

' «togram the width of the bars is proporti

5. In hl-mg"q Proy 200;;1: 78. 1f the population figures are given-for each Stute

L 1o (o) Number of cla§ of India; then the data can be clagsified as
) r'equer;fgwal (@) None of thess Bes (@) qualitative ~(b) quantitative - 2011 II

(c) Class ! _ (c) chronological BN e (d) 'geographir‘ai
7, Which one of the following relations for the 79. Consider the fo]]owm statement spect of
/ aumbers 10, 7, 8, 5, 6, 8, 5, 8 and 6 is correct? the set S=(1,2,3.. g) Sleniq i Hapoet 9
= Mean = -
a) Mean ::ej'a: EZ; M::g i ::g:: 201211 L(n +1Y2 is the medlan of -the numbers ins.
(c) Mean > Media _ IL. n'is the mode of the numbers ‘in 8.

72, The mean of 100 values is 45. If 15 is added to - Which of the statement(s) gwcn abuue is/are
each of the first forty values and 5 is subtracted correct? : ‘ 20111K
from each of the remaining sixty values, then the = (8) Only | e -(b) oy
new mean becomes — 201211 (c) Both | and I Py (d) Neither 1 nor (i

s B4 ©5 g%

7. Which of the following pair(s) is/are™correctly Dlrectlons (Q Nos‘ 80 81) The ztemwzse e.xpena'zture

wched? iy of a non-government organisation for ~the year

PR . o i 2008-2009 is given below. Sameic eyt 38 T 20030

I. Weight of a person : Continuous variable R « T : s
II. Educational qualification of the person : ey e -, am Expenditure (in Z laih)
Attribute 201211 K oSy ol employees, | i o 6o Dl
P ' , TR - Social welfare activities T s
(3) Only 1 (b) Only Il - b Office contingency PRl o RS S
“ [c)Both I and I (d) Neither 1 nor Il ¥y, TR "_Veh|cle_fnaint evance: | Y 4 .
» ) Ny Ligge ¢ _ Rent and hire cha G Fa o B e
T4, Consider the following dlstnbutlon: : Y St : e C 2.3 ar-gis-' B s e ek
T i i Mlscellaneous expenses TG
3 Frequency koo I SJ__(__ +8 4 5 ] 3__ g pi The above data are: represented by a ple dlgram
For what value of f, is the anthmetm mean of the. 80 What is tl}e sectorxal‘angle of the Iax gest. sector
above distribution 312"y . 20121 s ) 120' e . (b) 105‘

(8) 2 (b) 3 () 4 (d) 5 " (C) 90° ALCEEEE (d) 85 3

1 :

;5' Which one among the followmg gtatcmentg I8 81 What is the dltferenco in the e-ectonal angles of

. CorTect? o 20121 . ‘the largest and the “smallest sectors? 5

= @ tsvlvmple bar diagrams are those dlagrams whlch show nnqay 90'; T R 53; 35,5; < 3

' 0 characteristics of the data : il i () 825 k A

g,
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Directions (Q. Nog. 82-83)
the frequency distribution of life
100 electric bulbs having median life

The following
Jength in
20

hours ©f
20111

" Numbar of bulbs _

Life of bulbs (in h)
T gy 7
" je8 x
1823 ) 10
e ST, )'”i |

e ———————————————

82. What is the missing frequency of a?
(d 14

83.

84.

85.

86.

87.

(@) AN (b) 27 (c) 24
What is the missing frequency of »?
(@) 27 (b) 24 () 14 @ M

Consider the following statements in respect of a

histogram :
1. The histogram consists of vertical rectangular
bars with a common base such that there is no
gap between consecutive bars.
II. The height of the rectangle is determined by the
frequency of the class it represents.

Which of the statements given above is/are
correct? 20111
(a) Only | (b) Only Il

(d) Neither | nor I

(c) Both 1 and Il

The arithmetic mean of 10 ~numbers was

computed as 7.6. It was later discovered that a

number 8 was wrongly read as 3 during the
1d be the correct mean?

computation. What shou

20111
(@ 7.1 (b) 7.6 (c) 81 (d) 86
For a set of positive numbers, consider the

following statements.

[ If each number is reduced by 2, then the

geometric mean of the set may not always exist.

II. If each number is increased by 2, then the
geometric mean of the set is increased by 2.

Which of the statements given = above is/are

correct? ; = 201011

(a) Only | (b) Only Il P
(d) Neither Inor i -~

(c) Both | and Il
g frequency diﬂtﬁb‘ti_tigh 3

Consider the followin
Class 010 | 0720 1030 | 0-40 | 060 " -
F[equencyi 3“t‘ g | .14 - 14 20“

Vitiat, 19 hauRiong frequency 'ﬁdi‘éfl'ibu,éion" known
@ i ey o 201011
() Cumulative distribution in’rnore than'type - 0 1
((b; gumulative ‘fj"?’mb'-ltfdn’nlﬁ'lgé'g- hén type
¢) Continuous frequency distributior L %
(d) None of the above: 5 ution

L .

lable }.‘l't't'-'i_

88.

89.

90.

Directions (Q. Nos.
6 persons living in a hous
majors and their average
ages of the three minor-children is same.

' 91-.

. (d) Cannot be determined due to msufficiem‘datq e

93,

" following mensures are -computed 10¥. 755

. 1L Median
. III Harmonic mean . - , . T T

Which “of the statements given above r‘sla-;E."

(e)b yr

"92. What is the median of the ages of minor children!

B

| 'CDSFa_ih_ﬁw

Conaidor the
histogram

[, Histogram & an oquivalant ...

roprosentation of the frequency distr l;::m‘ﬁk

11, Histogram fa suitable for continugy, :
variahlon, where the total rm’l"ﬁNt Moy
il“(‘l‘\'n] in ‘)V(“'lly dla’trlblihsd O.V[,ff th“)}mﬂf uh

’ ' !h& 1

Which of the atatements  given aboye ;

following statoments |
800 by 3

Prst-
LT

i e

correct? b e
(a) Only | (b) Onlyn ng
(c) Both and Il (d) Neither | nor i * i

]

Lot (.\fl._)'l).(xn. y‘.l)v'”!(x;) ..}’,,) ﬂ!_’ﬁ"’n P&in q ]

(65 Care v s SN denoted by  Mqe

respectively : ' et ( Gt

Consider the following statements: 1.
LM + ) = M@+ MO o

11 Gy ) = GG o ek

positive numbers. Tho arithmetic medn ., §
geomotric mean of any aot of positive m.mm ;
F

correct? - 2010m

(a) Only |
(c) Both tand Il .

What is ‘the weighte
numbers . whose woights
corresponding number?

(a 7
(¢) 5

(b) Only Il
(d)‘ Neither | nor Il

d mean of first 10 natunl f
care oqual to the

(20100 f .
(b) 65, - - t

91.02) The averdge “oge o |
¢ is 23.6.y1s Three of theman |
age is 42 _yl-'f.-fl_'fmdl'ffcrz'm in

ges of minor children?

(b) 4yr
(d) 6yr

What is the mean of the a

@3y

() A1 P

A new frequency distribution is -constructed k&
doubling each frequency  of the origiat
distribution keeping the other en

{08 intact: -
t:lOB_ : the g

tables. Kok g >
_I, Arithmetic mean -
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a8

Statistics

p of the following statements with yeferepce
9
WhiL ve is correet’ (2010 1)
to 3 esponding values of 1 and 1l only are equal in beth
ﬂf‘ dcmbbtmns
sponding values-of 1 and I only are equal in
h the ai <tnb\.t10"s
Te:r,-,f-fj nag values of It and 1) only are equal in
© €O "ire distnibutions

n’ L/cf'é

Chodhs ‘
responding values of 1, 1l and Il are equal in both
8! s gistibutions .

: oS (Q. Nos. 94-96) The arithmetic mean,
grp('(':‘ mean and median of 6 positive numbers

0 )
& here a<b<care —,2,2 respectively.
s bbe €Y 3 20101

oy What ;¢ the sum of the squares of all the sjx
92

abers:
e ®) 42 (0 45 (d) 48

\&J

g5, What 1S

(@ °

the value of ¢?

®) 2 (c) 3 (d) 4

g6, What is the mode?

(b) 2
{d) No mode

“\: 1) 2and 4 )
i ¢7. The following table shows the percentage of .
o and female coffee drinkers and non-coffee

drinkers in two Towns A and B.

Attributes Town A f Town B
. Male  Female | Male | Female
Cofes dankers | 40% [ 5% 25% L 15%
Norocfee | 20% | 35% 30% | 30%
grnkers | ; ;

If the total population of the Towns Aand B are
- 10000 and 20000 respectively, then what is the

397

total number nf fomale ecoffee drinkers in both
iov-ns” ; 2009 11

(a)80UD Cqm) en0a - o) 5500 (6) 2%

98. Examples of data are given below

L. Information on - householde eollscted by an
investigator hy door-to-dosr visits,

I1. Data on the percentage of literatea, sex-wizse, for
the different districts of a state collected from
records of the census of India,

III. General information about famlhes. oollected by
telephonic interviews,

Which one of the following in respect o{ the abom’
is correct? 2009 11

(a) 1 and Y are pnmar/ data
(b) 1 and 1l are primary data
(c) 11 and It are primary data
(d) 1, 1l and Il are primary data

99 Which one of the following represent.s m.ansuaal

data? - 20091
(a) The names of all owners of shcps jocated n 2
shopping complex ;

(b) A list ‘giving the names of ali States cf lm"a

(c) A list of all European countnes and thar respe-"
capital cities

(d) The volume of a rainfail in certain geogrephicai arez,
recorded every month for 24 consecutive months

100. Consider the followmg types of data :

L Marks of students who appeared for a test of 100
. marks:

i ]I. Collar sizes of 200 shu-ts sold in a week.
III. Monthly incomes of 250 employees of a factory.

""" For which of the above data, mode is a suitable

‘measure of central tendency? Cu i v 20081
(@) I and il (b) Only I
“+(c) T'and I “(d) Lland M

.) 4 (9 's.- (b)

s L N () T
13. (b) 4. 1500 6.0 17 1BE . ®wE@ 20
23.(b) 24 (b)"""":fzs.‘ b)  26(d) 220 = 28(c) 29. (d) 304 |
3B.() M) 3B 36 3@ 3B 9@ @
3.0 4 4. 6 . 2.0 4@ 4 50
5.() s4()  ss()  s6(Q  ST@ @ @ 6@
63.() . 64(c)  6s.(d) 66 (b) . 62.(b)  68() e ()  F0.(o)
@) 76 756 76@ 7B @ Mm@ s |
s e Sl R 2-85 © 86 82.(b) . 88.() 89. () 190.(3\‘: _
Ces(d)  96.(d) . 9%.(d). . 98.(b) . -99.(d). 100 ()

6. - 7.(0) 8 | 9
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